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/y% Semester B.E./B.Tech. Degree Exan;;,na mn, June/July 2024

Mlcrocontroller ;
: Max. Marks: 100

- 1. Answer any FIVE full questions, choosing ONE full question from each module.

2. M : Marks , L: Bloom’s level , C: Course -oufpomes.

, Module- 1, * b M| L | C

Q.1 | a.  Explain the architecture of an arm emb dded éewce with a neat dmgram 10 | L2  CO1
b. | How are monitor and control 1nternal operations performed in ARM core? | 10 | L2 | CO1

Explain in brief. ; ; i
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Q.2 | a. Explain memory managemen 9 : 10| L2 | CO1
| coupled memory. . ' =
b. Explam mechanism apphed by ARM core to handle uxcep‘uon interrupts | 10 | L2 | CO1
using different vector ;

Module — 2 W

Q.3 | a. | Examine data pmcess g instructions requlrement'ln the manipulation of | 10 | L2 | CO2
data register? EX Mlam in brief data processing instructions.
b. | Explain with’ examples the following 32bit" instruction of ARN processor | 10 L2 | CO2
i) CMN 11) MLA ii)) MRS iv) BIC, ) LDR.
OR »
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10| L2 | CO2

Q4 | a.  Explat the ’followmg with exampl

Y

1) Sto j\k operation ii) Swap instrac ons.

b. | Explain Branch instructions in ARM with suitable example. Demonstrate L2 | CO2
Branch instruct usage ﬂow of execution with an exam  program. .
Module — 3
Q.5 | a. | How registers are allocated to optimize the pmg L2 | CO3
level program to find'the sum of first to mtager'numbers o A ]

b. | How complier ndles a “for loop” with, vandble number 'Qt xteratlons N 10| L2 | CO3 |
and loop controihng with an example§
Q.6 | a. Explainthe following terms with an approprlate exa< 10| L2 | CO3

i) Pomtcf»ﬁ\llasmg 1) Portg%ht%‘ésues :
b. | How function calling is eﬁicggntly used by ARM through APCS with an | 10 | L2 | CO3

examﬁﬂe program.

Module —
Q.7 | . Explain ARM proges 01 w&cepﬂon and rnod with a neat dlagram 10| L2 | CO4
_LbJ| Explain exceptwn priorities and link register offset. - 10 | L2 | CO4

Q.8 |a. List ARM fit "Ware suite featuré‘"“’“ xplain firmware execution flow and | 10 | L2 CO4.

Red Hat Bgoi LW
b. | Explain IRQ and Fir exceptlon also to enable and disable IRQ and FIQ | 10 | L2 | CO4

interrupts.
p Module - 5 CMRIT LIBRARY
Q.9 | a. | Explain basic architecture’of cache memory. HANGALORE - 560 037 10 | L2 | COS5 |
b. | Explain process involved in main memory mapping to a cache memory. 10 | L2 | COS

OR
d}ta"g‘ram set associative cache. How are efficiency is | 10 | L2 | COS

Q.10 | a. | Explain wit}
measured? =
b. Brleﬂy expiﬁm cache line replacement policies with an example. 10 L2 | COS
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